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Making a Complete Sketch
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Examine the function f(x) =3x" — 51" with respect to...
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homework
Examine the fanction /(x) = ﬁ with respect to. .. s‘("\ = i)}
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Review:
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Review:

Examine the function f(x)=x —4x withrespect to...

Intercepts

Symmetry

Asymptotes

Intervals of Increase or Decrease
Local Maximum and Minimum values

Concavity andPoints of Inflection
Sketch the Curve
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homework

£
Examine the function ./ (*) = T with respectto...

. Intercepts
Symmetry
Asymptotes
. Intervals of Increase or Decrease
Local Maximum and Minimum values
. Concavity and Points of Inflection

Sketch the Curve
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